Install Instructions

PRP Seats
RZR 800 S Spare Tire Mount

Read through all of the instructions completely before
beginning the install.

Parts Included:
A. 1, PRP 800 S Spare tire mount
B. 2, Support Brackets
C.2,3" x1/4" Bolts
4,1 1/4" x 1/4" Bolts
6, 1/4" Nylock Nuts
12, Washers

Remove all parts from the box and unwrap completely using
the packaging to lay out the pieces.

Tools Needed: (not included)
7/16" Open end wrench and socket
T25 wrench (Polaris Factory Supplied Tool)

e | Time: |
| 2@ Approx 10 minutes.
A
Page 1 sz EH“

PRP Seats



Install Instructions for PRP Seats XP 1000 Spare Tire Mount

.Br%

. A\
8Cd11/4 BOLT. —>

114" oLt - PR

o

3"BOLTS

1. Remove Torx bolts

Using the Torx driver supplied with your
RZR, remove the lower Torx bolts on each
side of the exhaust.

Discard hardware.

. Set Mount on edge of bed.

Set the mount on the bed, lining up the top
holes of the mount with the Lock-and-Ride
holes on the top of the bed edge. Using a
washer, insert two 1 1/4"” bolts into the top
of the mount.

Using the other two 1 1/4" bolts, 4 washers
and 2 nuts, secure the bottom of the mount
to the bed.

. Install support brackets

Using a washer and lock nut, install the
narrow end of the support bracket where
the top bolts appear through the under-side
of the bed. Do not tighten until all bolts are
installed.

Use the remaining 3" bolts, washers and
nuts, secure the support brackets to the
frame on each side.

Tighten all nuts and bolts now.

12. Aaaaaand, your done!

Congratulations! Your new PRP Seats 800 S
Spare Tire Mount is installed and ready to use.

If you have any questions or experience
issues, please contact your retail outlet first
for help. However, the staff at PRP is always
happy to help at 1-800-317-6253.

Thank you! Ride Safe!

=FHP

PRP Seats



